] =
-BEBEEH
(BFE1H~12RH)
245 | F k255 | F 265 | T ak274F | 285 | F k294
P b 4 4 4 4 4 4
REER S B £ 3 2 3 1 2 4
£ #$ B % 62 65 67 66 59 63
X £ & H ¥ 17 14 15 14 14 17
EOXE B % 120 113 82 107 92 88
(BF1H~128)
215 wig EE BUER V=743 BE& L3R | BHE | HHES
L2274 29 22 21 22 21 25 13 19 10
284 20 21 21 16 20 10 9 26 18
T RE294E 29 20 19 25 13 15 12 26 22
-iERE - BREEERNR
(BE1H~12H)
E B = VU
F FEL | R |BEFER|BRYTIF| FFER |BEXT| BEd )
: B 7 1 8
ER2TE -
BEEEE 0
% . 7% 4 4
R 284 -
BEEEE 0
. #Bwi% 5 1 6
FRR294 -
BEEEE 0
- B 1 1
ER2TE -
BEEEE 0
- o | A TE 1 L
R 1§ |FR28% -
; ELER 2 2
- B 1 1
ERR294F -
BEEEE 0

26




